Lecture 6

1- William Blake was a poet and?
Painter and printmaker < iy pley $5 el sag el alidy olSs

2- William Blake died..?
Poor and was unknown during his life
Gl L8] Uggas cilSy e840 6., clls alily g3
3- The Industrial Revolution was during?
1760 -between 1420-1460

4- The Industrial Revolution started in?
Great Britain and then spread to northern Europe , Germany USA

between 1420-1460- 1760 UM dacliall 3,4l cal<
5- Child labor existed?
Before the Industrial Revolution
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6- the romantic poets hated..?
The way the industrial revolution is changing the landscape and

damaging human spirit | yi 7y 5 Ly wenll i e loall 5,800 5,k €. 0g S ducilag Jl +at

7- romantic poets wanted more ?
Rural life iy )11 Slaadl Sl G ST 011 Luilagyl s a

8- Tiger by William Blake is a part of?
He's book songs of innocence and experience
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9- William Blake portrays the tiger as?
Terrible and powerful like the Industrial Revolution

e Lall 3,531 Jio G585 4uaay Ssaill (ole sad jgumy elils pLd;
10- Tiger by William Blake consists of?
Six stanzas Sladige Tow Sope < elils alilig 3 cyo ol

11- Burning bright in William Blake's tiger refers to?
The colors of the tiger "metaphor" 5 aeal aill sl ) it by albis el 5d 3 ycke Gpm

12- The third stanza represents?
The blacksmith ( The Industrial Revolution) (e Lieall 3,5311) slaall Sl abaie Jias

13- The lamp represents?
The innocence of the English countryside SOl 811 Be 5 ST Lol fiay

14- the symmetry of the tiger is?

his stripes .
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أريج
وكان وليام بليك وهو شاعر و؟ رسام وبرينتمكر

أريج
توفي وليام بليك ..؟ الفقراء وكانت مجهولة أثناء حياته

أريج
كانت الثورة الصناعية خلال؟ 1760 -between 1420-1460

أريج
كانت عمالة الأطفال؟ قبل الثورة الصناعية

أريج
شعراء الرومانسية مكروه ..؟ الطريق الثورة الصناعية يتغير المشهد وضارة روح الإنسان

أريج
شعراء الرومانسية أراد أكثر من ذلك؟ الحياة الريفية

أريج
النمر من قبل ويليام بليك هو جزء من؟ انه كتاب الأغاني البراءة والخبرة

أريج
وليام بليك يصور نمر على النحو؟ رهيبة وقوية مثل الثورة الصناعية

أريج
النمر من قبل ويليام بليك يتكون من؟ ستة موشحات

أريج
حرق مشرق في النمر ويليام بليك يشير إلى؟ ألوان النمر "استعارة"

أريج
يمثل مقطع ثالث؟ الحداد (الثورة الصناعية)

أريج
يمثل المصباح؟ براءة الريف الانكليزي

أريج
التماثل النمر هو؟ المشارب له

أريج
اعداد/ هايدي


